OCEAN 63

Tek Hareketli Rolling Roof Teknik Katalog
Single Move Rolling Roof Technical Catalog

GOLGELENDIRME
SISTEMLERI




H|£11,—l

205

Profile No kg/m
2337 |4,560,

115
9] 2] =) F j &
j E 2‘5 ﬂ -ﬁ
U] U] | i =
2 3
i E E 3 L
(‘_-_
M| ]
130 91
Praofile No  kg/m Profile No  kg/m
| 2339 7,827, | 2785 |s,352
285
Ol
. O
o
Profile No kg/m
2340 {3,906
122
Elj\ 8
5

n 0

Profile No kg/m

. 2341 3,028

ocean

GOLGELENDIRME
SISTEMLERI

28,5

1]

1645

Profile No kg/m

| 2338 1.730:

i z e
75,5

Profile No kg/m

| 5312 [1,100

==

120

Profile No kg/m

2342 |1,085



ocean

GOLGELENDIRME
SISTEMLERI

Ray Profili
Rail Profile

Product Code: 2339

ht kg/m; 7,827
(1609)(1 0x25mm

Oluk On/Arka Kapama Profili
Gutter Front/Rear Closure Profile

Product Code: 2338

Weight kglm 1,730
(164,5 x 85x16mm)




(ocean

GOLGELENDIRME
SISTEMLERI

Oluk Profili
Gutter Profile

Product Code: 2337

Weight kg/m: 4,560
(85x 205 x 2 mm)

Lamel Profili
Lamella Profiles

Product Code: 2340

Weight kg/m: 3,906
(40 x 28é]x 2 mm)




Dikme Profili
Sewing Profile

Product Code: 2341

Weight kg/m: 3,028
(120 x 110 x 2 mm)

Dikme Kapak Profili
Sewing Cover Profile

Product Code: 2342

Weight kg/m: 1,055
(120 x 45 x 1,8 mm)

Motor Borusu
Motor Pipe

Product Code: 5312

Weight kg/m: 1,100
(ﬂ7q5.5- xg1,5 mm)




ocean

GOLGELENDIRME
SISTEMLERI

Rail Set

IRay Takimi
Product Code: Roll-01

KOLI iC TAKIM ADETLERI / PIECES IN THE BOX
Roll-01 Uriin Ad1 / Product Name

i Roll-01-1 Arka Plastik Rulman Yatagi Sa@/Sol / Rear Plastic Bearing Right/Left 1 takim / set
»4 Roll-01-2 T10 Triger Digli / T10 Timing Gear 1 adet / piece
¥ Roll-01-3 Triger Kayis Fren / Timing Belt Brake 1 adet / piece
“Y Roll-01-4 6917 Celik Rulman / 6917 Steel Bearing 2 adet / piece
51 Roll-01-5 On Rulman Yataklama Plastigi / Front Roller Bearing Plastic 1 takim / set
s} Roll-01-86 On Gergi Plastik Dis Kasa Sag/Sol / Front Tension Platic Outer Case Right/Left 1 takim / set
A Roll-01-7 6007 Celik Rulman / 6007 Steel Bearing 2 adet / piece
:y PRG-79 On Gergi Kare Otomat (16x16) / Front Tensioner Square Automaton (16x16) 1 adet / piece
]} Roll-01-9 On Gergi Tekeri ve Triger Baglanti Plastigi / Front Tensioner Wheel and Timig Link Plastic takim / set
1 KIS-08 75’lik Su Gideri / 75 Water Drain adet / piece

il =]

1
1
Roll-01-11 Ray Arka Duvar Baglanti Aparati / Rail Rear Wall Connection Apparatus 1 adet / piece
Roll-01-12 Ray Arka (U) Baglanti Aparati / Rail Rear (U) Connection Apparatus 1 adet / piece
Roll-01-13  Arka 4. Lamel Baglanti Aparati / Rear 4th Lamella Fixing Apparatus 2 adet / piece
Roll-01-14 On Ray Oluk Baglanti Aparati / Front Rail Groove Connection Apparatus 1 adet / piece
Roll-01-15A Direk Ust Baglanti Aparati / Mast Top Connection Apparatus 1 adet / piece
Roll-01-16 Ray Arka Baglanti Lamasi / Rail Rear Connection Plate 1 adet / piece
Roll-01-17 Ray Oluk Baglanti Lamasi (M8 4 Delikli 25x100) / Rail Groove Connection Plate (M8 4 Holes 25x100) 2 adet / piece
Roll-01-18  Ray On ve Ayak Baglanti Lamasi (M8 2 Delikli 25x109) / Rail Front Connection Plate (M8 2 Holes 25x109) 3 adet / piece

Roll-01-19 Ray Lama Somunu (M8 1 Delikli 25x25) / Rail Plate Nut (M8 1 Hole 25x25) 2 adet / piece
Roll-01-20 M12x160 AKV Civata / M12X160 AKV Bolt 2 adet / piece
Roll-01-21 M8x16 Yuvarlak Bagli Kare Vida / M8x16 Round Head Square Screw 2 adet / piece
Roll-01-22 M8x70 inbus Civata / M8x70 Inbus Bolt 2 adet / piece
Roll-01-23 MB8x12 Bombe Bas Inbus Civata / M8x12 Round Head Inbus Bolt 20 adet / piece
Roll-01-24 M6x90 Inbus Civata / M6x90 Inbus Bolt 2 adet / piece
Roll-01-25 M6x70 inbus Civata / M6x70 Inbus Bolt 2 adet / piece
Roll-01-26  M6x50 inbus Civata / M6x50 Inbus Bolt 1 adet / piece
Roll-01-27 M12 Fiberli Somun / M12 Fiber Nut 2 adet / piece

Roll-21 M8 Fiberli Somun / M8 Fiber Nut 6 adet / piece
Roll-01-29 M6 Fiberli Somun / M6 Fiber Nut 5 adet / piece

Roll-01-30 6,3x32 YHB Sag Vidas| / 6,3x32 YHB Hair Screw 8 adet / piece



ocean

GOLGELENDIRME
SISTEMLERI

(14

®

Eko Rolling Roof Ray Takimi
Eco Rolling Roof Rail Set
Product Code: Roll-Eko-01

KOLI iC TAKIM ADETLERI / PIECES IN THE BOX

(8 Roll-01-1 Arka Plastik Rulman Yatagd: Sag/Sol / Rear Plastic Bearing Right/Left 1 takim / set
”4 Roll-01-2 T10 Triger Digli / T10 Timing Gear 1 adet / piece
¥ Roll-01-3 Triger Kayis Fren / Timing Belt Brake 1 adet / piece
4 Prg-04 On Gergi Takozu Sag/Sol / Front Tensioner Wedge Right/Left 1 takim / set
53 Roll-01-5 On Rulman Yataklama Plastigi / Front Roller Bearing Plastic 1 takim / set
S Prg-79 On Gergi Kare Otomat (16x16) / Front Tensioner Square Automaton (16x16) 1 adet / piece
74 Roll-01-9 On Gergi Tekeri ve Triger Baglanti Plastigi / Front Tensioner Wheel and Timig Link Plastic 1 takim / set
8 KIS-08 75’lik Su Gideri / 75 Water Drain 1 adet / piece
] Roll-01-13  Arka 4. Lamel Baglanti Aparati / Rear 4th Lamella Fixing Apparatus 1 adet / piece
Roll-01-12E Ray Arka (U) Baglanti Aparati Eko / Rail Rear (U) Connection Apparatus Eco 1 adet / piece
Roll-01-14E  On Ray Oluk Baglanti Aparati Eko / Front Rail Groove Connection Apparatus Eco 1 adet / piece
Roll-01-15A Direk Ust Baglanti Aparati / Column Top Connection Apparatus 1 adet / piece
Roll-01-15B Arka ve Zemin Baglanti Aparati / Rear and Ground Connection Apparatus 1 adet / piece
Roll-01-17E  Ray Arka Baglanti Lama Somunu Eko (M8 4 Delikli 13,4x90) / Rail Rear Mount Lam Nut Eco (M8 4 Holes 13.4x90) 2 adet / piece
Roll-01-18A  Ray On ve Ayak Bafjlanti Lamas: Eko (M8 2 Delikli 25x109) /Rail Front and Foot Connecting Plate Eco (M8 2 Holes 25x109) 2 adet / piece
Roll-01-19E  Ray Lama Somunu (M8 1 Delikli 25x25) / Rail Plate Nut (M8 1 Holes 25x25) 2 adet / piece
Prg-41 90x150 Ray Duvar Aski Aparati / 90x150 Rail Wall Hanger 1 adet / piece
Prg-81-2 90x150 Ray On Kapag Plastik / 90x150 Rail Front Cover Plastic 1 adet / piece
Prg-117 Biyiik Rulman Plastik / Big Bearing Plastic 2 adet / piece
Prg-119 Kicik Rulman Plastik / Small Bearing Plastic 2 adet / piece
Roll-01-18E M8x12 Bombe Bas Inbus Civata / M8x12 Round Head Inbus Bolt 1 adet / piece
Roll-01-23 M8x12 Bombe Bas inbus Civata / M8x12 Round Head Inbus Bolt 16 adet / piece
Roll-01-25 M6x70 imbus Civata / M12 Inbus Bolt 2 adet / piece
Roll-01-27 M12 Fiberli Somun / M12 Fiber Nut 2 adet / piece
Roll-01-29 M6 Fiberli Somun / M6 Fiber Nut 2 adet / piece
Roll-01-30 6,3x32 YHB Sag Vidasi / 6,3x32 YHB Hair Screws 8 adet / piece
Roll-22 M8 Kare Kaynak Somun / M8 Square Weld Nut 2 adet / piece
Roll-23 M12x110 DIN931 8.8 Civata / M12x110 DIN931 8.8 Bolt 2 adet / piece



ocean

GOLGELENDIRME

R -~
< X

Lamel Sol Kapak Plastigi Lamel Sa§ Kapak Plastigi
Lamel Left Cover Plastic Lamel Right Cover Plastic
Product Code: Roll-02 Product Code: Roll-03

Box Piece: 50 set Box Piece: 50 set

h

Rear Lamel Fixing Apparatus

IArka Lamel Sabitleme Aparati
Product Code: Roll-04

On Lamel Mafsali Sag/Sol Orta Lamel Mafsali Sag/Sol Arka Lamel Mafsali Sa§/Sol
Front Lamella Joint Right/l eft Middle Lamella Joint Right/Left Rear Lamella Joint Right/L eft
Product Code: Roll-06 Product Code: Roll-07 Product Code: Roll-08

Box Piece: 100 piece

Small Wheel Middle Rail Wheel Joint
Product Code: Roll-09 Product Code: Roll-10
Box Piece: 125 piece

Kigik Teker I Orta Ray Teker Mafsali



ocean

GOLGELENDIRME
SISTEMLERI

Gutter Right/Left Cover Plate

I Oluk Sa§/Sol Kapak Aparati
Product Code: Roll-11

Motor Fixing Apparatus

I Motor Sabitleme Aparat
Product Code: Prg-44

Somfy Motor Apparatus and Switch Bracelet

I Somfy Motor Aparati ve Switch Bilezigi
Product Code: Prg-18

T10/16 Triger Kayig
T10/16 Timing Belt
Product Code: Prg-105
1 Roll: 100 m

Lamel Epdm Panel Contasi
Epdm Panel Gasket

Product Code: Roll-15

1 Roll: 161 m / 15 kg

Ray ve Oluk Epdm Contasi
Rpdm Rail Gasket

Product Code: Roll-16

1 Roll: 57 m / 15 kg



ocean

GOLGELENDIRME
SISTEMLERI

4,2x19 Top Basg Vida
4,2x19 Ball Head Screw
Product Code: Roll-17
Box Piece: 2500

Oluk Yan Kapak Baglanti Vidasi
Gutter Side Cover Connection Bolt

&

% 4,8x32 Havsa Bas Vida

& 4,8x32 Countersunk Heda Screw
2 Product Code: Roll-18

% Box Piece: 500

Lamel Plastik Baglanti Vidasi
Cover Plate and Plastic Connection Screw

M8x40 inbus Vida
MEx40 inbus Screw
Product Code: Roll-19
Box Piece: 200

Lamel Ust Plastik Birlestirme Vidasi
Screw Connecling the Plastik on the Cover Plate

M8x65 inbus Vida
M8x40 inbus Screw
Product Code: Roll-20
Box Piece: 200

Lamel ile tekeri Birlestirme Vidasi
Screw Connecting Plate and Wheel

M8 Fiber Somun
M8 Fiber Nut

Product Code: Roll-21
Box Piece: 1000

Sadece Roll-19 ve Roll-20’ de kullaniliyor
It is Used only in Roll-19 and Roll-20

Lighting Control Box

s IAydlnIatma Kontrol Kutusu
Product Code: Roll-32



(ocean

GOLGELENDIRME
SISTEMLERI




SISTEMLERI

foCcean










I ‘!:L‘li’LQELEF'JDHRME
1 : SISTEMLE






